
NAPLAN 2010 paper test answers

Year 9 Reading

Numeracy 

Calculator 

allowed

Numeracy

Non-

Calculator

Language 

Conventions

1 a c b disturb

2 b c a attendance

3 a a c principle

4 b c d environment

5 d b d received

6 d b b library

7 b a d drought

8 a a a bargains

9 c d b camouflaged

10 d d d biodegradable

11 d 395 and 60 c originated

12 b a a deliberately

13 b d d accompanied

14 a b c omnivorous

15 d d b extinction

16 c c d transcontinental

17 b b c label

18 c d a guard

19 b b b commercial

20 b c c facilitate

21 c a b noticeable

22 c b c effectively

23 b 152 a instantaneous

24 a b a declare

25 c d c aisle

26 b d d perspiration

27 d 388.5 135 c

28
*see note 

below
75 256 d

29 d d 175 d

30 c
*see note 

below
20 c

31 d 138 10000 c

32 a 4.5 10 b

33 a a

34 c c

35 d c

36 c d

37 b a

38 b b

39 c a
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Numeracy 

Calculator 

allowed

Numeracy

Non-

Calculator

Language 

Conventions

40 b b

41 a d

42 d a

43 c d

44 b c

45 d d

46 b c

47
*see note 

below
a

48 c

49 c

50 a

51 a

52 b

53 b

54 b

*Q28 Response refers to effect as tension, frustration, change of pace or other 

plausible effect.

*Q47 Response refers to assumption that science is inherently good and worthwhile.

*Q30 Numeracy CA The correct answer is 57 but given the different methods 

for calculating the answer, 58 is also accepted.


